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Answer: Speed
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Answer:
- High speed
- Lower speed
- Not moving
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Answer: No, because you have to change its speed from zero to something positive.  This 
change will represent an acceleration.
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Answer: The objects should take approximately the same amount of time to hit the ground.  
It’s ok if the time is a little bit off, but they should realize this fact.
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Answer: The change in speed.
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Answer:
Accelerations are 8.93, 10.56, 9.74, 10.0
The biggest acceleration comes from the Ford Windstar
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Answer:
- Acceleration given by slope
- Distance given by the area under the line
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Answer:
Distance -- scalar
Mass -- scalar
Position -- vector
Displacement -- vector
Time -- scalar
Change in position -- vector
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Answers will vary.
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Answer:
Align the two vectors so that the head of the first vector is touching the tail of the second 
vector.  Then draw a new vector from the tail of the first vector to the head of the second.
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Answer:
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Answers: Check their labels and see if their vectors make sense
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Answer: Velocity has a direction since it’s a vector quantity, whereas speed is just a scalar.
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Answer: You changed directions while walking.
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Answer: No. For example, travelling at a constant, non-zero velocity results in zero 
acceleration.
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Answer: Acceleration (this time as a vector quantity).
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Answer:
(105 km/h [E] + 45 km/h [E]) / 2 = 75 km/h [E]
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Answer: [S]
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Answer:
[(28 m/s[N] + 13 m/s [N]) /2] * 12 s = 246 m [N]
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